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Working hypotheses/ research 
questions  

• Hypothesis/question  One: A Guaranteed  
Employment Scheme  is a feasible strategy as 
a first step for progressively realizing the long 
term goal of decent work . It   contributes  to 
building an informal security welfare regime  
and is an effective strategy for alleviating 
poverty through strengthening household 
income 



Hypotheses/research questions  
continued 

• Hypothesis/questions  Two:

• The support of the a democratic development 
state and an autonomous and broadened  
labor movement for labor absorbing 
economic activities , including green jobs, is a 
feasible medium term step in achieving most 
of the decent work indicators  



Hypotheses /research questions 
continued 

• Hypothesis/research question  Three;

A new human resource development strategy 
will need to be adopted and implemented  if 
there is to be a  long term   shift to higher 
productivity sectors to meet  all ten decent 
work indicators 


